Webb et al: LPC Lawyers’ Skills 22e
Test Bank Chapter 03: Legal Writing
Correct answers are marked with an asterisk (*)
Type: multiple choice question
Title: Chapter 03 - Question 01

01) What is ‘plain English’?
a. A form of English that uses straightforward vocabulary, prefers short sentences, and avoids jargon.

Feedback: This is a good start; however, its one weakness is that it doesn’t pay attention to the needs of the reader. For example, a fellow-professional would be quite at home with the use of legal jargon.

Page reference: 28

*b. Saying what you intend to say clearly, concisely, and correctly so that it is understood at the first reading by your intended reader.

Feedback: This is the best answer. It emphasizes the fundamental rule of communication—that the reader should understand unambiguously the message you intend to communicate.

Page reference: 28

c. A variety of written English that anybody can understand.

Feedback: On the face of it this sounds OK, but it is rather vague. Any communication should be designed for a specific readership. What one reader finds easy to understand, another may struggle with, for all sorts of different reasons.

Page reference: 28

d. A simplistic form of English that is probably too basic for most legal communications.

Feedback: Wrong! The whole point of communicating with somebody is that they understand the message you want to put over. Writing clearly, concisely, and correctly is not being simplistic. However, explaining complex ideas in plain English is a demanding skill and needs to be constantly practised and refreshed.

Page reference: 28
Type: multiple choice question
Title: Chapter 03 - Question 02

02) Writing differs from the spoken language in that:
a. Writers use a more formal vocabulary.

Feedback: This is may or may not be true. The formality of the vocabulary that you use will depend on a number of factors: how technical the subject-matter is; what you know of the reader(s); the reader’s needs and abilities; how well you know the reader, etc. Using too formal a vocabulary can make your writing turgid and your meaning obscure.

Page reference: 29/30

b. Writing is easier to understand because you can read it several times to grasp the meaning.

Feedback: This is not a good answer! Even in situations where you have the opportunity and the time to re-read a communication, it won’t necessarily help you to understand the message because the message may need to be explained using different language.

Page reference: 29/30

c. Writing is a more sophisticated means of communication.

Feedback: It rather depends on what you mean by ‘sophistication’. If you mean using less frequent words and phrases, then we don’t think that is sophisticated at all! It just makes writing harder to understand. Moreover, what could be more sophisticated than evaluating what you hear in a conversation at the same time as picking up subtle nuances of meaning put over through non-verbal communication?

Page reference: 29/30

*d. Writing has to make up for the absence of immediate response and non-verbal communication—important characteristics of spoken language.

Feedback: This is the best answer. Non-verbal communication carries a lot of subtle meaning and enables us to add meaning to the messages we give out and receive. In writing, on the other hand, these are absent. Consequently, we have to be much more careful about how we structure meaning in the written language.

Page reference: 29/30
Type: multiple choice question
Title: Chapter 03 - Question 03

03) What is meant by ‘padding’?
a. Using infrequent vocabulary to make your communication sound more ‘sophisticated’.

Feedback: This isn’t padding, but you shouldn’t do it anyway. Padding is using additional words to avoid using a single word.

Page reference: 31

b. Adding things into your writing that are not relevant to the information you are communicating.

Feedback: This isn’t padding, but you shouldn’t do it anyway. Padding is using additional words to avoid using a single word.

Page reference: 31

c. Delivering bad news in as kindly a way as possible.

Feedback: This isn’t padding, but it’s not a bad principle. Padding is using additional words to avoid using a single word.

Page reference: 31

*d. Using additional words to avoid using a single word.

Feedback: Correct. This is padding. Doing this very occasionally isn’t a problem. Doing it all the time makes your writing verbose and clumsy.

Page reference: 31
Type: multiple choice question
Title: Chapter 03 - Question 04

04) ‘Before collecting your vehicle please pay for your parking at the machines. You will find these near the exit of the administration building.’ Which of the following versions is better?
a. Prior to the collection of your vehicle please ensure that you pay for your parking at the machines near the exit of the administration building.

Feedback: This version is worse than the original. ‘Prior to’ is padding. ‘Collection of your vehicle’ is an inelegant nominalization. ‘Ensure that’ is redundant. The original is already quite good as it stands.

Page reference: 31-33.
b. Before collecting your vehicle please pay for your parking at the automatic machines located in the vicinity of the exit of the administration building.

Feedback: This version is worse than the original. ‘Automatic’ is redundant. ‘Located in the vicinity of’ is padding for ‘near’ and doesn’t give you much clue as to where the machines are. The original is already quite good as it stands.

Page reference: 31-33.
c. Before collecting your vehicle please pay for your parking at the machines. These are located in the exit of the administration building.

Feedback: This version is nearly as good as the original, but we don’t like ‘located’. The original is already quite good as it stands.

Page reference: 31-33.
*d. None of the options given.

Feedback: Correct. The original is already quite good as it stands.

Page reference: 31-33.

Type: multiple choice question
Title: Chapter 03 - Question 05

05) Why prefer active verbs to passive verbs?
a. Passive verbs are too complex and make your writing hard to understand.

Feedback: Incorrect. They are not usually complex for native English speakers nor are they too difficult to understand. However, using them too often makes your writing over-formal and distant.

Page reference: 33

*b. Using the passive concentrates on what happened and treats the people involved in an event as less important.

Feedback: Correct. The effect of this is to depersonalize communication and make it sound much more formal than it usually needs to be.

Page reference: 33

c. Using passives makes your writing vague.

Feedback: This is by no means necessarily the case. However, using them too often makes your writing over-formal and distant.

Page reference: 33

d. Active verbs are easier to use because you can write simpler sentences.

Feedback: This is true up to a point. However, it is quite possible to express difficult and complex ideas using active verbs. The real reason for preferring active over passive is to make your communication sound more friendly and personal.

Page reference: 33
Type: multiple choice question
Title: Chapter 03 - Question 06

06) What is a complex sentence?
a. One of more than 25 words.

Feedback: Incorrect. Although a sentence of this length may well be complex, word length is not the principal characteristic of a complex sentence.

Page reference: 34

b. One that contains a lot of technical language.

Feedback: Incorrect. Just because a sentence has lots of technical language does not necessarily mean that it is grammatically complex.

Page reference: 34

c. One with very detailed content.

Feedback: Incorrect. A complex sentence may well contain detailed content, but its complexity lies in its grammatical organization rather than in its content.

Page reference: 34

*d. One with several subordinate clauses.

Feedback: Correct. A complex sentence is one in which there are several layers of meaning linked through the use of subordinate clauses. It is complex because it contains a number of different ideas in different relationships with each other which the reader has to process.

Page reference: 34

Type: multiple choice question
Title: Chapter 03 - Question 07

07) ‘Thanking you for your kind attention.’ Why is this sentence incorrect?
a. It’s a meaningless cliché.

Feedback: Clichés are generally to be avoided, because through overuse their meaning has become diluted. However, the problem here is that this phrase is not a grammatical sentence.

Page reference: 37
b. It’s officialese.

Feedback: It’s best to avoid officialese, and we’ve certainly come across this in official letters. However, the problem here is that this phrase is not a grammatical sentence.

Page reference: 37
*c. It doesn’t contain subject and verb.

Feedback: This is the correct answer. When you write, you must use full sentences.

Page reference: 37
d. The tone sounds obsequious.

Feedback: This is not only obsequious but also a cliché. However, the problem here is that this phrase is not a grammatical sentence.

Page reference: 37

Type: multiple choice question
Title: Chapter 03 - Question 08

08) ‘Should you have any queries please do not hesitate to contact myself or my secretary.’ Which of the following versions is better?
*a. Please contact me or my secretary if you would like any further information.

Feedback: Clear, concise, correct; much better.

Page reference: 37, 38, 47-48

b. If you have any questions feel free to contact myself or my secretary.

Feedback: This is better because it sounds less formal and it avoids the cliché ‘do not hesitate to contact’. However, it does use another cliché—’feel free to’. It also uses ‘myself’ as an emphatic pronoun. There is some doubt as to how acceptable this usage is.

Page reference: 37, 38, 47-48

c. Myself or my secretary would be happy to answer any queries you might have.

Feedback: This is quite good, apart from ‘myself or my secretary’. ‘Myself’ should not be used as an emphatic pronoun. Use ‘I’. You might want to rearrange the words and put ‘My secretary’ first as a matter of convention.

Page reference: 37, 38, 47-48

d. Should you have any queries please contact me or my secretary.

Feedback: This is not better. The problem here is ‘Should you have’. This kind of rather archaic usage is something of a cliché. Begin the sentence with ‘If’.

Page reference: 37, 38, 47-48
Type: multiple choice question
Title: Chapter 03 - Question 09

09) What is ‘standard English’?
a. The sort of English you hear people talking every day.

Feedback: You may well hear standard English spoken every day, but English, particularly spoken English, has many varieties. These differ grammatically and in their pronunciation.

Page reference: 35
b. English which is of a very high standard.

Feedback: This kind of definition is far too vague. By ‘high standard’ do we mean that it sounds educated? Or do we mean that it conveys complicated ideas? Neither of these is a good definition of standard English.

Page reference: 35
*c. It is the English used in our institutions and is the language variety taught in UK schools.

Feedback: This is the closest definition. People will probably never agree on the detail.

Page reference: 35
d. The Queen’s English.

Feedback: Not too many people talk like the Queen, so it’s hardly standard! Moreover, English is the first language of several hundred million people who don’t live in the UK.

Page reference: 35

Type: multiple response question 

Title: Chapter 03 - Question 10 

10) Which of the following sentences do you think are acceptable?
Feedback: The sentence which addresses the reader directly using ‘your name’ and ‘we will get back to you’ is a good approach. It avoids making gender specific references such as ‘his name’ and ‘we will get back to him’. Although acceptable and correct these represent an old-fashioned usage in which the masculine is used where there is the possibility of mixed gender. An alternative approach that is coming to be the preferred version is to use ‘their name’ and ‘we will get back to them’’.  Using ‘they’ as a singular gender-neutral pronoun has a long history. The approach that uses ‘his or her name’ and ‘we will get back to him or her’ is not correct. It is clumsy and inelegant and it gets worse the more occasions you have to use it in a sentence or paragraph. It’s easy enough to find ways to avoid it. 

Page reference: 37/38
*a. Anyone who needs more information should leave his name and address and we will get back to him.
*b. Anyone who needs more information should leave their name and address and we will get back to them.
*c. If you need more information, leave your name and address and we will get back to you.
d. Anyone who needs more information should leave his or her name and address and we will get back to him or her.

Type: multiple response question 

Title: Chapter 03 - Question 11

11) In each of the sentences below, which of the bold words or phrases is the subject of the sentence?
Feedback: 

None of the options given is correct. In each of the sentences given, none of the bold words or phrases is the subject of the sentence.

‘Referring to your letter of the 15th September.’ is not a sentence.  Even if you turned it into a sentence (‘I refer to . . .’), ‘your letter‘ would be the object of the sentence, not the subject.

The subject of the sentence ‘His counsel’s plea in mitigation fell on deaf ears.’ is the whole phrase ‘his counsel’s plea in mitigation‘. The subject of a sentence does not have to be a single noun, but can also be a noun phrase, as here.

In the sentence ‘Leave the court immediately!, ‘the court‘ is the object of the sentence. The subject is ‘you’ but is implied, not stated, because this is a command.

In the sentence ‘The claimant was taken by ambulance to St William’s hospital.’ the ‘ambulance’ would be the subject of the sentence if this was an active sentence. As this is passive, the subject of the sentence is ‘the claimant’.
Page reference: 37/38
a. Referring to your letter of the 15th September.
b. His counsel’s plea in mitigation fell on deaf ears.
c. Leave the court immediately!
d. The claimant was taken by ambulance to St William’s hospital.
*e. None of the options given is correct.

Type: multiple choice question
Title: Chapter 03 - Question 12

12) ‘A gang of youths took the childrens dog from its kennel. The young peoples solicitor argued they did this because they didnt know who its owner was and felt sorry for it.’ Which one of the following examples shows the correct use of the apostrophe in these sentences?
a. A gang of youths’ took the childrens’ dog from its kennel. The young peoples’ solicitor argued they did this because they didn’t know who it’s owner was and felt sorry for it.

Feedback: Incorrect. “Youths” is a plural noun, not a possessive, so does not have an apostrophe. “Children’s” is both possessive and plural, but because the plural does not end in “s” the apostrophe goes before the “s”. “People’s” is also possessive, so the normal rule applies: apostrophe before the “s”. “Didn’t” requires an apostrophe to show that the letter “o” is dropped from “not”. “It’s” is an abbreviation of “it is” or “it has”. Where “its” is the possessive pronoun, as in this case, no apostrophe is needed.

Page reference: 40-42

b. A gang of youths took the childrens dog from its kennel. The young peoples solicitor argued they did this because they didn’t know who its owner was and felt sorry for it.

Feedback: Incorrect. At least you spotted the missing apostrophe in “didn’t”. “Didn’t” requires an apostrophe to show that the letter “o” is dropped from “not”. There should have been an apostrophe before the “s” of “children’s” and before the “s” of “people’s”.

Page reference: 40-42

*c. A gang of youths took the children’s dog from its kennel. The young people’s solicitor argued they did this because they didn’t know who its owner was and felt sorry for it.

Feedback: Correct. All the apostrophes here are in the right place.

Page reference: 40-42

d. A gang of youths took the children’s dog from it’s kennel. The young people’s solicitor argued they did this because they didn’t know who its owner was and felt sorry for it.

Feedback: Incorrect. The apostrophe in “its kennel” is incorrect. “It’s” is an abbreviation of “it is” or “it has”. Where “its” is the possessive pronoun, as in this case, no apostrophe is needed. “Didn’t” requires an apostrophe to show that the letter “o” is dropped from “not”. It is therefore incorrect to place it before the “n”.

Page reference: 40-42
Type: multiple choice question
Title: Chapter 03 - Question 13

13) ‘A gang of five men were arrested and later charged with attempted murder of a woman in Clapham. It was known that all of them had previously been arrested for a shooting in Clerkenwell.’ Which of the following sentences accurately summarizes this information?
a. Those men who were allegedly involved in the shooting were charged with attempted murder.

Feedback: While this is true, it suggests that there were others who were not involved in the shooting.

Page reference: 38-41

b. Those men, who were allegedly involved in the shooting were charged with attempted murder.

Feedback: The comma here is unnecessary and possibly confusing. It is not clear how many of the five were charged.

Page reference: 38-41

c. Those men who were allegedly involved in the shooting were charged, with attempted murder.

Feedback: The comma here is unnecessary and possibly confusing. There does not seem to be any reason to pause after ‘charged’, which is the only reason you would need a comma here.

Page reference: 38-41

*d. Those men, who were allegedly involved in the shooting, were charged with attempted murder.

Feedback: This is the most accurate version. By separating out the ‘who’ clause with commas we know that we are describing all five men.

Page reference: 38-41
Type: multiple choice question
Title: Chapter 03 - Question 14

14) What is a subordinate clause?
a. A sentence without a main verb
Feedback: Incorrect.  You use a subordinate clause when you want to embed an extra idea.  Alternatively, something that could stand on its own as a sentence you could subordinate within the main sentence.  
Page reference: 34
*b. A way of importing additional ideas into a sentence, using words like 'if', 'which', etc.
Feedback: This is the correct answer. You use a subordinate clause when you want to embed an extra idea.  Alternatively, something that could stand on its own as a sentence you could subordinate within the main sentence.
Page reference: 34
c. A less important term of a contract
Feedback: This is a test of writing, not contract law! You use a subordinate clause when you want to embed an extra idea.  Alternatively, something that could stand on its own as a sentence you could subordinate within the main sentence.
Page reference: 34
d. A long and complex sentence
Feedback: Incorrect. You use a subordinate clause when you want to embed an extra idea.  Alternatively, something that could stand on its own as a sentence you could subordinate within the main sentence.
Page reference: 34
Type: multiple choice question
Title: Chapter 03 - Question 15

15) What is a 'passive' verb?
a. A verb which has no subject
Feedback: All verbs have a subject, even if it is implicit.  The correct answer is that passives are used where you want to draw attention to the action rather than the person or thing doing the action. Too many passives in a piece of writing can make it seem impersonal and over formal.
Page reference: 32
b. A verb form which refers to events and states in the past
Feedback: Incorrect.  Passives are used where you want to draw attention to the action rather than the person or thing doing the action. Too many passives in a piece of writing can make it seem impersonal and over formal.
Page reference: 32
c. A verb form made from the verb 'to be' and the present participle
Feedback: Incorrect.  This is the present continuous form of the verb: e.g. 'I was walking down the road.'  Passives are used where you want to draw attention to the action rather than the person or thing doing the action. Too many passives in a piece of writing can make it seem impersonal and over formal.
Page reference: 32
*d. A verb form made from the verb 'to be' and the past participle
Feedback: This is correct.  Passives are used where you want to draw attention to the action rather than the person or thing doing the action. Too many passives in a piece of writing can make it seem impersonal and over formal.
Page reference: 32
Type: multiple choice question
Title: Chapter 03 - Question 16

16) What use is punctuation?
*a. It is a way of trying to replace prosody in the spoken language.
Feedback: This is correct. Punctuation helps to compensate for the absence of emphasis, pauses, and intonation in the spoken language.  Punctuation can only be useful if there is intelligent planning of your writing.
Page reference: 38-39
b. It is necessary to understand the written language properly.
Feedback: This is partly true, but does not explain what punctuation is really for.  Punctuation helps to compensate for the absence of emphasis, pauses, and intonation in the spoken language.  Punctuation can only be useful if there is intelligent planning of your writing.  
Page reference: 38-39
c. It clears up ambiguity.
Feedback: Incorrect.  It may do this but it is not its main function. Punctuation helps to compensate for the absence of emphasis, pauses, and intonation in the spoken language.  Punctuation can only be useful if there is intelligent planning of your writing.  
Page reference: 38-39
d. It shows the reader the relationship between sentences and different parts of the sentence.
Feedback: This again is partly right, although well-planned sentences should also help to do this. Punctuation helps to compensate for the absence of emphasis, pauses, and intonation in the spoken language.  Punctuation can only be useful if there is intelligent planning of your writing.
Page reference: 38-39
Type: multiple choice question
Title: Chapter 03 - Question 17

17) Which of the following sentences does not contain a spelling mistake?
a. Thank you for your advise on this matter.
Feedback: Advise is used only for the verb.  The noun is spelled 'advice'.
*b. You will be forced to fulfil the terms of the contract.
Feedback: This is correct.  Although on their own, the words 'full' and fill' are spelled with 'll', when they are joined they only have one 'l'.  Of course, the final 'l' is doubled for past and present participles (fulfilled and fulfilling).
c. Your daughters are still financially dependant on you.
Feedback: Dependant is a noun.  When you want to use an adjective, you spell it 'dependent'.  But beware of the American spelling, where dependent is usual for both!
d. The principle of the local college was charged with theft.
Feedback: In this case you should write 'principal'.  Principle is an abstract noun and although we are dealing with a noun in this sentence, it is spelled like the adjective (presumably because it was originally followed by a noun, possibly 'principal teacher'.
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